DELHI TRANSPORT CORPORATION OFFICE OF THE MANAGER (CIVIL) I.P.ESTATE: NEW DELHI

No. Mgr(Civil)/HQ/2021-22/300

Dated: 17-4-2021

Notice Inviting Quotation

Percentage rate quotation are invited for the following work on behalf of the MD, DTC from the registered contractor of DJB, CPWD, MES, Railways, DDA, PWD Delhi, NDMC, DSIIDC, I&FC, MCD and having work experience certificate with Govt. dept.

	Name of work	Estimated Cost	Earnest Money	Time allowed
	Water connection for Rohini Depot-I	Rs.1,45,468/-	Nil (Earnest Money Deposit Declaration as per annexure-I enclosed with NIQ.)	10 days
	ate and time of receipt of application from	23/1	24/2)	up to 4.00 PM
Da	e office of Mgr. (C)/PMC, HQ. It and time of issue of quotation om the office of Mgr. (C) /PMC HQ.	26/04/21		up to 4.00 PM
Date and time of receipt of quotation in the tender cell room No207 at DTC, HQ. Date and time of opening of quotation		27/04/21		up to 12.00 PM
		27/0	4/21	at 3.00 PM

Definition of similar work: Execution of laying DJB water supply line.

- 1. The work experience certificate of similar work of any Govt. dept. in the last 7 years shall be submitted along with the application for getting the quotation. The one work of value not less than 80% of the estimated cost or two works each of value not less than 60% of the estimated cost or 3 works of 40% of
- 2. In lieu of EMD, the copy of duly signed Performa for Earnest Money Deposit Declaration as per annexure-I enclosed with NIQ to be submitted by bidder.
- 3. The rates will be quoted/written in words also as well as in number otherwise the quotation will be
- 4. The under signed reserves the right to cancel any /all quotations without assigning any reason thereof.5. The valid registration as on date with the above departments is to be submitted along with the application for NIQ.
- 6. The rate should be inclusive of all taxes etc.
- 7. The similar work means the providing & laying water supply lines and plumbing works.

Encl: Terms and conditions.

Copy to: 1. Dy.CGM (Civil)-II for information pl.

- Manager (IT) BBM Complex requested to upload the NIQ on DTC website.
- 3. Manager, (Tender Cell), DTC, HQ. I.P. Estate for information and to make the arrangement for receipt of quotation and opening as per above schedule.
- 4. Manager(C) to issue NIQ.
- 5. Notice Board
- 6. Master file.

1	Schedule of Quantity					
FR	ne of	Water connection for Rohini Depot-I			D (D)	
S. no.	Item No.	Description of item	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
1	18.12.4	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc.(a)32 mm dia nominal bore	80.00	m	247.40	19792.00
2	18.88.6	Providing and fixing required Stainless Steel Fitting of press fit design of grade AISI 304 conforming to JWWA G116 standard with V-profile or M-profile and with O-ring sealing gasket of EPDM material of providing and fixing required Stainless Steel Fitting of press fit design of grade AISI 304 conforming toJWWA G116 standard with V-profile or M-profile and with O-ring sealing gasket of EPDM material of required dia as per direction of Engineer-in charge.(a)Reducer For 34.00 mm x 28.58 mm outer dia pipe	1.00	each	220.70	220.70
3		Providing and fixing gun metal non- return valve of approved quality (screwed end):(a)32 mm nominal bore Vertical	1.00	each	610.55	610.55
4	4.1.3	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:(a)"1:2:4 (1 cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size).	6.00	cum	5481.95	32891.70
5	16.81	Providing and erecting 2.00 metre high temporary barricading at site as per drawing/ direction of Engineer-in-Charge which includes writing and painting, arrangement for traffic diversion such as traffic signals during construction at site for day and night, glow lamps, reflective signs, marking, flags, caution tape as directed by the Engineer-in-Charge. The barricading provided shall be retained in position at site continuously i/c shifting of barricading from one location to another location as many times as required during the execution of the entire work till its completion. Rate include its maintenance for damages, painting, all incidentals, labour materials, equipments and works required to execute the job. The barricading shall not be removed without prior approval of Engineer-in-Charge.(a)(Note:- One time payment shall be made for providing barricading from start of work till completion of work i/c shifting. The barricading provided shall remain to be the property of the contractor on completion of the work).	50.00	m	1577.05	78852.50

			0.00	aum	120.55	1084.95
16	15.60	Disposal of building rubbish / malba / similar	9.00	cum	120.55	1004.73
		unserviceable, dismantled or waste materials by				
		mechanical means, including loading, transporting,				
		unloading to approved municipal dumping ground or				
		as approved by Engineer-in-charge, beyond 50 m				
		initial lead, for all leads				
	18.60	including all lifts involved. Providing and fixing enclosed type water meter	1.00	each	1547.40	1547.40
7	18.60 A/R	(bulk type) conforming to IS: 2373 and tested by				
	A/K	Municipal Board complete with bolts, nuts, rubber				
		insertions etc. (The tail pieces if required will be				
1 1		paid separately): 40mm diameter.				
8	18.46.4	Providing and fixing G.I. Union in G.I. pipe	4.00	each	240.65	962.60
8	16.40.4	including cutting and threading the pipe and making	1.00			1
		long screws etc. complete (New work) :(a)32 mm				
		nominal bore				
9	18.46.1	Providing and fixing G.I. Union in G.I. pipe	2.00	each	147.75	295.50
´	10.40.1	including cutting and threading the pipe and making	2.00	•	2	
		long screws etc. complete (New				1
		work) :(a)15 mm nominal bore				
10	14.23	Pumping out water caused by springs, tidal or river	5.00	kilolitre	104.30	521.50
		seepage, broken water mains or drains and the like.				
		1 0,				
11	18.13.1	Making connection of G.I. distribution branch with	2.00	each	394.15	788.30
1		G.I. main of following sizes by providing and fixing				
		tee, including cutting and threading the pipe etc.			1	1
		complete :(a)25 to 40 mm nominal bore			- 1	- 1
12	M/R	Reducing Elbow 90° for 34.00 mm X 22.22 mm	5.00	each	287.00	1435.00
		outer dia SS pipe			Total	120002.70
					Total=	139002.70
Add 15.69% cost index on DSR items no-1 to 11 i.e on Rs.137567.70= 137567.7				137567.70	21584.37	
					Total=	160587.07
Less @ 9.5% on DSR items no-1 to 11 + cost index 15.69% i.e on Rs.159152.07 159152.07			-15119.45			
(Rs137567.70+Rs.21584.34=Rs.159152.07) =						
Total=					145467.63	
					Say=	1,45,468/-

Con.Sr.Mgr

Mgr(C)H.Q.

SO (C)North

Terms & Conditions: -

- The work shall be executed as per latest CPWD specifications with correction slip issued up to the date and as per direction of Engineer-in-charge.
- The contractor shall take all safety measures for satisfactory completion of the work at his
 own cost and he shall be completely responsible for any mishap occur during execution of
 the work.
- 3. No T & P will be provided by the DTC.
- 4. All valid/mandatory taxes will be deducted as per Govt. rules from contractor bill.
- 5. Any damage to any part of the building during execution of the work shall be made good by the contractor at his own cost.
- 6. The contractor shall make his own arrangement for filtered & unfiltered water and electricity for use in construction and for his labour.
- 7. Contractor shall ensure the payment of workers in minimum wages and other social security scheme like PF, ESI contribution and bonus etc.
- 8. Contractor shall ensure the payment of revision of minimum wages notified by labour department every year in the month of April & October. This clause shall not only be a statutory obligation on the part of contractors but also shall ensure the legal entitlement to minimum rate of wages to workers.
- The Officer-in-charge of the work will accept or reject the work executed, according to his judgement.
- 10. This order can be cancelled /stopped at any time by the officer-in-charge of the work or by any officer superior to him in authority similarly, the contractor is liable to cease work at any time.
- 11. The rates quoted by the agency shall include all the applicable taxes like GST etc. & nothing extra on account of taxes shall be payable.
- 12. The 2.5% security shall be deducted from the running/final payments & same shall be released after a period of 6 months after date of satisfactory completion of the work.

Manager (Civil) H.O.

Proforma for Earnest Money Deposit Declaration

WI bio	hereas, I/wehave submitted Is for(name of work)
I/V	Ve hereby submit following declaration in lieu of submitting Earnest Money Deposit.
(1)	If after the opening of tender, I/we withdraw or modify my/our bid during the period of validity of tender (including extended validity of tender) specified in the tender documents,
	Or
(2)	If, after the award of work, I/we fail to sign the contract, or to submit performance guarantee before the deadline defined in the tender documents,
	I/we shall be suspended for one year and shall not be eligible to bid for DTC tenders from date of issue of suspension order.
	Signature of the contractor (s)